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Part – I 

Q.no Option Answer Book Question Number 
1 (a) (𝐴 × 𝐶) ⊂ (𝐵 × 𝐷) Ex.1.6 – Q.No (3) 
2 (c) 2 − 4𝑥 Creative 
3 (a) 0, 1, 8 Ex.2.10 - Q.No (2) 
4 (d) A is larger than B by 1 Ex.2.10 - Q.No (12) 

5 (d) 1 Creative 

6 (d) Row matrix Ex.3.20 - Q.No (17) 

7 (b) 70° Ex.4.5 - Q.No (2) 

8 (a) 120° Ex.4.5 - Q.No (15) 

9 (b) Parallel to 𝑌-axis Ex.5.5 - Q.No (3) 

10 (c) 2 Creative  
11 (c) 6 cm Creative 

12 (a) 2 : 1 Ex.7.5 - Q.No (12) 

13 (b) 160900 Ex.8.5 - Q.No (4) 

14 (c) 23/26 Ex.8.5 - Q.No (14) 
 

Part – II 

15.  Example 1.2 

 𝐴 × 𝐵 = {(3,2), (3,4), (5,2), (5,4)} 

𝐴 = {set of all first coordinate of elements of 𝐴 × 𝐵} 

 ∴ 𝐴 = {3,5} 

𝐵 = {set of all second coordinates of elements of 𝐴 × 𝐵} 

 ∴ 𝐵 = {2,4} 

16.   Exercise 1.4  - Question Number 5 

The function 𝑓: ℕ → ℕ defined by  

𝑓(𝑚) = 𝑚2 + 𝑚 + 3  

𝑚 = 1, 𝑓(1) = (1)2 + 1 + 3 = 1 + 1 + 3 = 5 

𝑚 = 2, 𝑓(2) = (2)2 + 2 + 3 = 4 + 2 + 3 = 9  

𝑚 = 3, 𝑓(3) = (3)2 + 3 + 3 = 9 + 3 + 3 = 15  

𝑚 = 4, 𝑓(4) = (4)2 + 4 + 3 = 16 + 4 + 3 = 23  

Since different elements of 𝑁 have different images in the codomain the function of 𝒇 

is one-one function. 
 

17. Exercise 2.2 – Question Number 2 

𝑛 = 1, 𝑚 = 1 ⇒ 21 × 51 = 2 × 5 = 10 

𝑛 = 1, 𝑚 = 2 ⇒ 21 × 52 = 2 × 25 = 50 

 𝑛 = 2, 𝑚 = 3 ⇒ 22 × 53 = 4 × 125 

                                                         = 500 

∴ 2𝑛 is always even.  

So that, the product of  5 is in always end digit is 0. 

   Hence, No value of 2𝑛 × 5𝑚 end with the digit 5. 
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18. Creative Question  

𝑎3 = 32 = 9   (∵ 3 is odd) 

𝑎4 =
42

2
=

16

2
= 8  (∵ 4 is odd) 

19.  Creative Question   

  12 + 22 + 32 + ⋯ + 102 =
10×11×21

6
= 385 

    22 + 42 + 62 + ⋯ + 202 = 22[12 + 22 + 32 + ⋯ + 102] = 4 × 385 = 1540 

20.  Creative Question 

 9𝑥2 + 3𝑘𝑥 + 4 = 0 ⇒ 𝑎 = 9, 𝑏 = 3𝑘, 𝑐 = 4 

If roots are real and equal, 𝑏2 − 4𝑎𝑐 = 0 

                                             (3𝑘)2 − 4 × 9 × 4 = 0 

                                                            9𝑘2 − 144 = 0 

                                                                           𝑘2 =
144

9
 

                                                                            𝑘2 = 16 

𝑘 = +4 𝑜𝑟 − 4 

21.  Exercise 3.17 – Question Number 5 

     −𝐴 = [
−√7 3

√5 −2

−√3 5

] 

Transpose of −𝐴 = [−√7 √5 −√3
3 −2 5

] 

22. Exercise 4.2 – Question Number 8(i) 

 
𝐴𝐵

𝐴𝐶
=

5

10
 

 
𝐴𝐵

𝐴𝐶
=

1

2
………………… (1) 

 
𝐵𝐷

𝐷𝐶
=

1.5

3.5
 

 
𝐵𝐷

𝐷𝐶
=

15

35
  

𝐵𝐷

𝐷𝐶
=

3

7
 ……………… (2) 

(1) & (2) ⇒
𝐴𝐵

𝐴𝐶
≠

𝐵𝐷

𝐷𝐶
 

∴ 𝐴𝐷 is not an angle bisector of ∠𝐴 
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23. Example 5.9 (iii) 

The slope =
−6−10

14−14
=

−16

0
 

The slope is undefined  

24.  Exercise 6.1 – Question Number 3(i) 

           √
𝟏+𝒔𝒊𝒏𝜽

𝟏−𝒔𝒊𝒏𝜽
= √

1+𝑠𝑖𝑛𝜃

1−𝑠𝑖𝑛𝜃
×

1+𝑠𝑖𝑛𝜃

1+𝑠𝑖𝑛𝜃
                          

                = √
(1+𝑠𝑖𝑛𝜃)2

1−sin2 𝜃
 

                           = √
(1+𝑠𝑖𝑛𝜃)2

cos2 𝜃
 

              =
1+𝑠𝑖𝑛𝜃

𝑐𝑜𝑠𝜃
 

              =
1

𝑐𝑜𝑠𝜃
+

𝑠𝑖𝑛𝜃

𝑐𝑜𝑠𝜃
 

                          = 𝒔𝒆𝒄𝜽 + 𝒕𝒂𝒏𝜽 
 

25.  Example 7.8 

Let 𝑟 be the radius of the sphere. 

Given that, surface area of sphere = 154 𝑚2 

                                                     4𝜋𝑟2 = 154 

                                          4 ×
22

7
× 𝑟2 = 154  

                                                          𝑟2 = 154 ×
1

4
×

7

22
 

                                                          𝑟2 =
49

4
  we get 𝑟 =

7

2
 

Therefore, diameter is 7m Type equation here. 

26.  Creative Question 

Base area of hemisphere 𝜋𝑟2 = 1386 sq.m 

                                                         = 3𝜋𝑟2 

                                                         = 3 × 1386 

                                                         = 4158 sq.m 

27.  Exercise 8.1 – Question Number 1(i) 
Arrange in Ascending order: 

63,68,79,89,98,108,117,125  

𝑅𝑎𝑛𝑔𝑒 = 𝐿 − 𝑆   

              = 125 − 63    = 62  
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   Coefficient of Range = 
𝐿−𝑆

𝐿+𝑆
 

                  =
125−63

125+63
 

                  =
62

188
 

                 = 0.3297  

                 = 𝟎. 𝟑𝟑 

28. Creative  Question  

ℎ = 9 cm, 𝑅 = 5 cm, 𝑟 = 3 cm 

Volume of hollow cylinder = 𝜋(𝑅2 − 𝑟2)ℎ cu.units  

                                                     =
22

7
× (52 − 32) × 9 

                                                          =
22

7
× (25 − 9) × 9 

                                                         =
22

7
× (16) × 9 

                                                         = 452.57 cu.cm 

 

Part – III 

29.  Exercise 1.1 – Question Number 7(i) 

𝐴 = The set of all natural numbers less than 8 = {1,2,3,4,56,7}  

 𝐵 = The set of all prime numbers less than 8 = {2,3,5,7}  

 𝐶 = The set of even prime number = {2}  

(𝐴 ∩ 𝐵) × 𝐶 = (𝐴 × 𝐶) ∩ (𝐵 × 𝐶)   

 

        LHS:  𝐴 ∩ 𝐵 = {1,2,3,4,5, 6,7} ∩ {2,3,5,7} 

                                = {2,3,5,7}  

          (𝐴 ∩ 𝐵) × 𝐶 = {2,3,5,7} × {2} = {(𝟐, 𝟐), (𝟑, 𝟐), (𝟓, 𝟐), (𝟕, 𝟐)} ………….(1) 

        RHS: 

         𝐴 × 𝐶 = {1,2,3,4,56,7} × {2} 

                      = {(1,2), (2,2), (3,2), (4,2), (5,2), (6,2), (7,2)} 

        𝐵 × 𝐶 = {2,3,5,7} × {2}   = {(2,2), (3,2), (5,2), (7,2)} 

        (𝐴 × 𝐶) ∩ (𝐵 × 𝐶) = {(𝟐, 𝟐), (𝟑, 𝟐), (𝟓, 𝟐), (𝟕, 𝟐)}  ……………(2) 

        From (1) and (2),  (𝑨 ∩ 𝑩) × 𝑪 = (𝑨 × 𝑪) ∩ (𝑩 × 𝑪)   
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30. Example 1.11 

 

 

31.  Creative Questions 

Sum of all natural numbers between 100 and 1000 which are divisible by 11  

= 110 + 121 + 132 + ⋯ + 990 

= 11[10 + 11 + 12 + ⋯ + 90] 

 Sum of natural numbers 𝑎 to 𝑏 = 
(𝑎+𝑏)(𝑎−𝑏+1)

𝟐
 

                                                                = 11 [
(90+10)(90−10+1)

2
] 

                                                               = 11 [
100×81

2
] 

                                                              = 11 × 50 × 81 

                                                              = 44,550 

 

mailto:wtsteam100@gmail.com


Way To Success – 10th Maths 
 

September 2020 Exam Answer Key 

wtsteam100@gmail.com                                6                          www.waytosuccess.org 

 

32. Creative Questions 

 6𝑥 + 2𝑦 − 5𝑧 = 13 ………………..(1) 

  3𝑥 + 3𝑦 − 2𝑧 = 13 ………………...(2) 

  7𝑥 + 5𝑦 − 3𝑧 = 26 ……………….(3) 

  

 (2)× 5  ⇒ 15𝑥 + 15𝑦 − 10𝑧 = 65 

(1)× 2   ⇒ 12𝑥 + 4𝑦 − 10𝑧 = 26   

(−)        3𝑥 + 11𝑦            = 39    ……………(4) 

 

(3)× 2  ⇒ 14𝑥 + 10𝑦 − 6𝑧 = 52 

(2)× 3   ⇒  9𝑥 +    9𝑦 − 6𝑧 = 39   

(−)        5𝑥 +  𝑦               = 13    ………….(5) 

 

 

(4)×   ⇒     3𝑥 + 11𝑦 = 39 

(5)×11   ⇒  55𝑥 +  11𝑦 = 143   

(−)         −52𝑥 =   −104     

  52𝑥 = 104 

     𝑥 =
104

52
 

     𝒙 = 𝟐 

 Sub 𝑥 = 2 in (4), 

             3(2) + 11𝑦 = 39 

                   6 + 11𝑦 = 39 

                            11𝑦 = 39 − 6 

                              11𝑦 = 33 

                                   𝑦 =
33

11
 

                                    𝒚 = 𝟑 

 Sub 𝑥 = 2, 𝑦 = 3 in (1) 

  6(2) + 2(3) − 5𝑧 = 13 

          12 + 6 − 5𝑧 = 13 

                  18 − 5𝑧 = 13 

                         −5𝑧 = −5 

                               𝒛 = 𝟏 
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33. Exercise 3.2 – Question Number 1 (i) 

     𝒇(𝒙) = 𝒙𝟒 + 𝟑𝒙𝟑 − 𝒙 − 𝟑  

     𝒈(𝒙) = 𝒙𝟑 + 𝒙𝟐 − 𝟓𝒙 + 𝟑 

                                      𝑥 + 2 

𝑥3 + 𝑥2 − 5𝑥 + 3   𝑥4 + 3𝑥3 − 0𝑥2 − 𝑥 − 3 

                                     𝑥4 +  𝑥3 −  5𝑥2 + 3𝑥 
                                   (−)    (−)       (+)           (−) 

                                             2𝑥3 + 5𝑥2 − 4𝑥  − 3 

                                             2𝑥3 + 2𝑥2 − 10𝑥 + 6 
                                               (−)     (−)          (+)          (−) 

                                                         3𝑥2 + 6𝑥 − 9 

                                                      3[𝑥2 + 2𝑥 − 3] 

 

3[𝑥2 + 2𝑥 − 3] ≠ 0 here 3 is not a divisor of 𝑔(𝑥)  

 

                                     𝑥 − 1 

    𝑥2 + 2𝑥 − 3     𝑥3 + 𝑥2 − 5𝑥 + 3 

                                𝑥3 + 2𝑥2 − 3𝑥 
                                            (−)       (−)           (+) 

                                       −𝑥2 − 2𝑥 + 3 

                                       −𝑥2 − 2𝑥 + 3 
                                        (+)      (+)        (−) 

                                                          0 

 

34. Creative Question 
 

                         
𝑥

𝑦
  − 5   +

𝑦

𝑥
 

                  
𝑥

𝑦
   

𝑥2

𝑦2 −
10𝑥

𝑦
+ 27 −

10𝑦

𝑥
+

𝑦2

𝑥2 

                        
𝑥2

𝑦2
 

                         (−) 

         
2𝑥

𝑦
− 5       −

10𝑥

𝑦
+ 27 

                            −
10𝑥

𝑦
+ 25 

                              (+)            (−) 

  2𝑥

𝑦
− 10 +

𝑦

𝑥
                          2 −

10𝑦

𝑥
+

𝑦2

𝑥2  

                                           2 −
10𝑦

𝑥
+

𝑦2

𝑥2
 

                                         (−)    (+)       (−) 

                                                          0 
 

  

 ∴ √
𝑥2

𝑦2
−

10𝑦

𝑥
+ 27 −

10𝑦

𝑥
+

𝑦2

𝑥2
= |

𝑥

𝑦
− 5 +

𝑦

𝑥
| 
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35.  Example 3.73 

 

36. Theorem 

Angle Bisector Theorem 

 

Statement: The internal bisector of an 

angle of a triangle divides the opposite 

side internally in the ratio of the 

corresponding sides containing the angle. 

 

Proof:    

Given : In ∆𝐴𝐵𝐶, 𝐴𝐷 is the internal bisector 

To prove: 
𝐴𝐵

𝐴𝐶
=

𝐵𝐷

𝐶𝐷
 

Construction : Draw a line through 𝐶 parallel to 𝐴𝐵. Extend 𝐴𝐷 to meet line 

through 𝐶 at 𝐸 
 

No. Statement Reason 
1.  ∠𝐴𝐸𝐶 = ∠𝐵𝐴𝐸 = ∠1 Two parallel lines cut by a transversal make 

alternate angles equal. 
2. ∆𝐴𝐶𝐸 is isosceles 

 𝐴𝐶 = 𝐶𝐸 …… (1) 

In ∆𝐴𝐶𝐸, ∠𝐶𝐴𝐸 = ∆𝐶𝐸𝐴 

3.  ∆𝐴𝐵𝐷 ∽ ∆𝐸𝐶𝐷 

 
𝐴𝐵

𝐶𝐸
=

𝐵𝐷

𝐶𝐷
 

By 𝐴𝐴 similarity 

4.  
𝐴𝐵

𝐴𝐶
=

𝐵𝐷

𝐶𝐷
 From (1) 𝐴𝐶 = 𝐶𝐸 

 Hence proved. 
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37.  Exercise 5.1 – Question Number 6 

       Area of quadrilateral = 28 square units  
1

2
[
−4 −3 3 2 −4
−2 𝑘 −2 3 −2

] = 28 

[(−4𝑘 + 6 + 9 − 4) − (6 + 3𝑘 − 4 − 12)] = 56 

                               (−4𝑘 + 11) − (3𝑘 − 10) = 56 

                                       −4𝑘 + 11 − 3𝑘 + 10 = 56 

                                                                      −7𝑘 = 56 − 21 

                                                                      −7𝑘 = 35  

                                                                            𝑘 =
35

−7
                                                                           

                                                                            𝒌 = −𝟓 
 

38. Exercise 6.3 – Question Number 3 

 

𝐴𝐵 =Tower = 60𝑚 

𝐶𝐷 =lamp post = ℎ 

𝐴𝐸 = 𝑥 

𝐶𝐷 = 𝐵𝐸 = 60 − 𝑥 = ℎ 

In right angle ∆  𝐴𝐸𝐶 

𝑡𝑎𝑛 38° =
𝐴𝐸

𝐷𝐸
= 0.7813  

𝐷𝐸 =
𝑥

0.7813
…………………… (1) 

In right angle  ∆ 𝐴𝐵𝐶 

            𝜃 = 60° 

𝑡𝑎𝑛 60° =
𝐴𝐵

𝐵𝐶
= √3 

          
60

𝐵𝐶
= √3 

        𝐵𝐶 =
60

√3
 

       𝐵𝐶 =
60

√3
×

√3

√3
 

            =
60√3

3
 

    𝐵𝐶 = 20√3 

  

 

 

 

 

  

  𝐵𝐶 = 𝐷𝐸 

∴ 𝐷𝐸 = 20√3 ……………. (2) 

From (1) & (2) 

𝐷𝐸 ⇒
𝑥

0.7813
= 20√3 

𝑥 = 20√3 × 0.7813 

𝑥 = 20 × 1.732 × 0.7813 

𝑥 = 27.064𝑚 

Height of the lamp post 

ℎ = 60 − 𝑥 

    = 60 − 27.064 

𝒉 = 𝟑𝟐. 𝟗𝟑𝒎 
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39. Exercise 7.2 – Question Number 2 

Volume of water raised in cylindrical glass  

     = Volume of cylindrical metal immersed                   

                              𝜋𝑅2𝐻 = 𝜋𝑟2ℎ 

        𝜋 × 10 × 10 × ℎ = 𝜋 × 5 × 5 × 4 

                                    ℎ =
5×5×4

10×10
 

                                         = 1 

The raise of the water in the glass = 𝟏 𝒄𝒎  

 

 

40. Creative Question 

𝑥 𝑑 = 𝑥𝑖 − 𝐴 

= 𝑥𝑖 − 70 
𝑑 =

𝑥 − 𝐴

𝐶
 

𝑑2 

40 −30 −6 36 

50 −20 −4 16 

60 −10 −2 4 

70 0 0 0 

80 10 2 4 

90 20 4 16 

95 25 5 25 

  Σ𝑑 = −1 Σ𝑑2 = 101 
  

 𝜎 = √Σ𝑑2

𝑛
− (

Σ𝑑

𝑛
)

2

× 𝐶    

= √101

7
− (

−1

7
)

2

 × 5 

= √
101

7
−

1

49
  × 5 

= √
706

49
 × 5  

= √14.41 × 5 

= 7.76    

𝝈 ≅ 𝟏𝟗  
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41. Exercise 8.3 – Question Number 7 

Two unbiased dice are rolled once. 

 

𝑆 = {(1,1), (1,2), (1,3), (1,4), (1,5), (1,6)

        (2,1), (2,2), (2,3), (2,4), (2,5), (2,6)

      (3,1), (3,2), (3,3), (3,4), (3,5), (3,6)

       (4,1), (4,2), (4,3), (4,4), (4,5), (4,6)

       (5,1), (5,2), (5,3), (5,4), (5,5), (5,6)

       (6,1), (6,2), (6,3), (6,4), (6,5), (6,6)}

  

       𝑛(𝑆) = 36  

 

    (i) Let the 𝐴 be event of getting a doublet. 

 𝐴 = {(1,1), (2,2), (3,3), (4,4), (5,5), (6,6)} 

 𝑛(𝐴) = 6, 

 ∴ 𝑃(𝐴) =
𝑛(𝐴)

𝑛(𝑆)
=

6

36
=

𝟏

𝟔
 

 

    (ii) Let 𝐵 be the event of getting the product as a prime number. 

 𝐵 = {(1,2), (1,3), (1,5), (2,1), (3,1), (5,1)} 

 𝑛(𝐵) = 6 

 ∴ 𝑃(𝐵) =
𝑛(𝐵)

𝑛(𝑆)
=

6

36
=

𝟏

𝟔
   

 

    (iii) Let 𝐶 be the event of getting the sum as a prime number. 

                 𝐶 =

{(1,1), (1,2), (1,4), (1,6), (2,1),
(2,3), (2,5), (3,2), (3,4), (4,1),
(4,3), (5,2), (5,6), (6,1), (6,5)}

 

    𝑛(𝐶) = 15 

    ∴ 𝑃(𝐶) =
𝑛(𝐶)

𝑛(𝑆)
=

15

36
=

𝟓

𝟏𝟐
 

 

    (iv) Let 𝐷 be the event of getting the sum as 1. 

       𝐷 = { } 

    𝑛(𝐷) = 0 

 ∴ 𝑃(𝐷) =
𝑛(𝐷)

𝑛(𝑆)
=

0

36
= 0 

 ∴ 𝑃(𝐷) = 𝟎 
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42. Creative Question 

  

 

 

 

 

 

 

 

 

Required equation of 𝐴𝐵 is 
𝑥

𝑎
+

𝑦

𝑏
= 1 ……………(1) 

 If equation (1) meet 𝑋 −axis, 𝑦 = 0 ⇒ 𝑥 = 𝑎   

∴ 𝐴(𝑎, 0) 

 If equation (1) meet 𝑌 −axis, 𝑥 = 0 ⇒ 𝑦 = 𝑏   

∴ 𝐵(0, 𝑏) 

 Mid point of 𝐴𝐵 is (2,3)   

                 (
𝑎+0

2
 ,

0+𝑏

2
) = (2,3) 

                         (
𝑎

2
 ,

𝑏

2
) = (2,3) 

                  
 𝑎

2
= 2 ⇒ 𝑎 = 4 

                   
 𝑏

2
= 3 ⇒ 𝑏 = 6 

 ∴ Equation of 𝐴𝐵 is   
𝑥

4
+

𝑦

6
= 1 

                                         
6𝑥+4𝑦

24
= 1 

                                   6𝑥 + 4𝑦 = 24 

 

 ÷ 𝑏𝑦 2,           3𝑥 + 2𝑦 = 12 
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Part – IV 

43.  (a)  Exercise 4.1 – Question Number 12 

 
Steps of construction: 

 
 

1. Construct a ∆𝐴𝐵𝐶 with any measurement. 
 

 
 

 
2. Draw a ray 𝐵𝑋 making an acute angle with 𝐵𝐶 on the side 

opposite to vertex 𝐴. 
 

3. Locate 6 points (the greater of 6 and 5 in 
6

5
)  𝐵1, 𝐵2, 𝐵3, 𝐵4,

𝐵5 and 𝐵6 on 𝐵𝑋 so that 𝐵𝐵1 = 𝐵1𝐵2 = 𝐵2𝐵3 = 𝐵3𝐵4 =
𝐵4𝐵5 = 𝐵5𝐵6  
  

 

4. Joint 𝐵4 (the 5th point, 5 being smaller of 6 and 5 in 
6

5
) to 𝐴 

and draw a line through 𝐵6 parallel to 𝐵5𝐶 intersecting the 
extended line segment 𝐵𝐶 at 𝐶′. 

 
5.  Draw a line through 𝐶′ parallel to 𝐶𝐴 intersecting the 

extended line segment 𝐵𝐴 at 𝐴′. Then 𝐴′𝐵𝐶′ is the required 
triangle each of whose sides is six-fifths of the 
corresponding sides of ∆𝐴𝐵𝐶.  

Rough Diagram 

 

Note: If  
6

5
> 1 , then 

the similar triangle 

will be outside 
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 (b)  Exercise 4.4 – Question Number 13 

  

 
  The length of the tangent is 8.7cm 

Verification: 

  𝑃𝐴 = √𝑂𝑃2 − 𝑂𝐴2        = √102 − 52           = √100 − 25         = √75              ⋍ 𝟖. 𝟕 𝒄𝒎 

Construction: 

 
1. Draw a circle of radius 

5 𝑐𝑚 with 𝑂 as Centre. 

 

 
2. Mark a point 𝑃,  10 𝑐𝑚 away from the 

Centre 𝑂. 
3. Join 𝑂𝑃 
4. Draw a perpendicular bisector for 𝑂𝑃 

and Mark the point  𝑂𝑃 meets at 𝑀. 
5. With 𝑀 as centre, 𝑀𝑂 or 𝑀𝑃 as radius 

draw a circle which cuts the previous 
circle at 𝐴 and 𝐵. 

 
6. Join 𝑃𝐴 and 𝑃𝐵 which are 

the required tangents. 
 

Rough diagram 

 

mailto:wtsteam100@gmail.com


Way To Success – 10th Maths 
 

September 2020 Exam Answer Key 

wtsteam100@gmail.com                                15                          www.waytosuccess.org 

 

44.  (a)  Example 3.51 (ii) 

  

 

 

Solution: {4,0}  

Real and equal roots 
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        (b)  Exercise 3.16 – Question Number 7 

      𝑦 = 2𝑥2 − 3𝑥 − 5  

𝑥 −2 −1 0 1 2 3 4 5 
𝑥2 4 1 0 1 4 9 16 25 

2𝑥2 8 2 0 2 8 18 32 50 
−3𝑥 6 3 0 −3 −6 −9 −12 −15 
−5 −5 −5 −5 −5 −5 −5 −5 −5 

𝑦 = 2𝑥2 − 3𝑥 − 5 9 0 −5 −6 −3 4 15 30 
 

    Points:  (−2,9), (−1,0), (0, −5), (1, −6), (2, −3), (3,4), (4,15), (5,30) 

𝑦 = 2𝑥2 − 3𝑥 − 5 

0 = 2𝑥2 − 4𝑥 − 6 
          (−)     (+)         (+) 

        𝑦 =         𝑥  + 1    

 

𝑥 −2 −1 0 1 2 3 
1 1 1 1 1 1 1 

𝑦 = 𝑥 + 1 −1 0 1 2 3 4 
    Points: (−2, −1), (−1,0), (0,1), (1,2), (2,3), (3,4) 

 
          Solution: {−𝟏, 𝟑} 
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